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1. Shinku-La tunnel pertains to which of the following ?

(A) Sikkim (B) Ladakh

(C) Jammu and Kashmir (D) Himachal Pradesh
fyim-en g Frefafen #§ ¥ fred dafm ¥ 2

(A) Taferm (B) &

(C) v/ R FIER ' D) T w=a

9. ' Digital India Act, 2023 will replace which of the following ?
.(A) Information Technology Act, 2008
(B) Information Technology Act, 2020
(C) Information Technology Act, 2000
(D) Information Technology Act, 2011
%ﬁmg@maﬁ:ﬁm 2023ﬁm1%—rliaﬂﬁﬁmaﬁwﬂm ?
(A) gu1 Wt tfafTem, 2008
(B) gu Wrenfient stfuf@m, 2020
(C) go Wrifiest Sfafw@m, 2000
(D) g=1 dreifet erfufEm, 2011

3 “Jivaka Chintamani” was Written by ..........ccco..cce

(A) Seethalai Sathanar - (B) Tiruttakkatevar
(C) Dandin (D) None of these
Vi R g femen T o

(A) Hidemé FeR  (B) fawawaeR

(C) - &= (D) ¥ ¥ FE T

TBC : 23/P/I—A 2



4. Bangar alluvium soils are also known as :
(A) Loess (B) Kankars
(C) Vertisols o (D) Regur
WM el fagdt & W oS .
&) < ® v
(C) afédm L D) IR

5. Jhelum river rises from : .

. (A) Whular lake ©(B) Dul lake

(C) Verinag .spring . (D) Potwar plateau
Yo T F W WA ¥
(A) TR 4 (B) =@ #w

(C) afEm == ' (D) YR—ER. & YSK

6. Under which Constitutional amendment reservations to Economically Weaker

Sections (EWS) was given ?

A) 95t Amendment (B) 103" Amendment

(C) 104** Amendment (D)‘ 105t Amendment

fore et SR g ST T e A (e, ® s R
™} ? ' '

(A) 953 weiem ; ®) 1038 e

(C) 1043 H¥Nua o tD) 1053 §¥ieA

TBC : 23/P/I—A s g P.TO.
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7. Under which Article of the Constitution a Speaker allows any member to speak

in Parliément in hisfher mother language ?
~(A) Article 19(1) (B) Article 343(1)

(C) Article 120(1) (D) Article 210(1)
ﬁﬁm%ﬁs«aﬁ%mmaﬁwﬁmﬁmmwﬁ%ﬁ
1 AN WA H@ R 2
(A) =R 19(1) (B) TR 343(1)
(©) I =x 120(1) : D) =R 210(1)

8. Which organisation releases the SDG India-Index, which comprehensively

documents the progress made by India’s States and Union Territories towards

.implementing the 2030 SDG targets ?

(A) RBI (B) NITI Aayog

(C) NIPFP : (D) SEEI
meﬁﬁm—mmmiﬁmé@ﬁaﬁﬁmm
'ﬁﬁwﬁ'wﬁuﬁmﬁ-mu&ﬁmﬁﬂ?mﬁwmmﬁﬁﬁmﬁ

@Y ?
(A) 9 fod S (B) ifa smm
(C) UASTEUITHYt (D) Hait

TBC : 23/P/I—A 4



9. What is the correct ascending order of Indian States on the basis of the poverty
headcount ratio (PHR) as per the National Multidimensional Poverty Index
measured by NITI Aayog ? ;

(A) Rajasthan, Madhya Pradesh, Uttar Pradesh, Bihar
(B) Madhya Pradesh, Uttar Pradesh, Bihar, Rajasthan
(C) Bihar, Rajasthan, Madhya Pradesh, Uttar Pradesh
(D) Uttar Pradesh, Bihar, Rajasthan, Madhya Pradesh
At ST R AR T T TSR TR g F SER e YR s
(MTIR) H MR | IRAT T F1 TE d@d@ FH AN Y ?
(A) TSFYM, 7¥ WY, IW Wy, fawr
(B) 7¥1 WY, IW Wv, faer, wewem
(C) foer, oM, Aeg ¥, IW R
(D) SR 9e¥, foer, UsRum, v W

10. Lithosphere is known as :

(A) Abiotic component (B) Biotic component

(C) Both (A) and (B) (D) Neither (A) nor (B)
fadrertor frat & w9 & S o ¥

(A) Ifawh weF - (B) Sfa® W&

(C) (A) 3R (B) I D) (A) 3R (B) I & &

11. First comprehensive population policy was announced by Government of India -

on :

(A) 16 April, 1974 (B)' 16 April, 1975
(C) 16 April, 1976 (D) 16 April, 1977
YR THR g TRell =AU% SHEE Afq w5 Swon @t T off
(A) 16 3199, 1974 _ (B) 16 31, 1975
(C) 16 3W«, 1976 - D) 16 314, 1977

TBC : 23/P/I—A 5 ' P.T.O.



12. Institute of 'F.‘oresf Biodiversity is located at :
(A) Dehradun - (B) Allahabad
(C) Hyderabad (D) Shimla
| T Sa-fafaua deum waf | feom § 2
A) e i . (B) WEER
(C) TER i (D) fermam
13. The greatest worldwide use of water is for :

(A) Irrigétion ' (B) Industry

(C) Human consumption (D) Washing and flushing toilets

e @R W YA w1 FOE &S ST ¥
(A) T ' (B) =M
(C) WAE @Y (D) Yo I Ve gy
14. Which of the following is a biotic component ?
(A) Soil (B) Air
(C) Animal (D) Water
frefefen & ¥ S Sfas w2 § 2
(A) A (B) =g

(C) g (D) &
TBC : 23/P1—A " 6
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15. International Day of Forests, 2023 pertains to the theme of :
(A) Forests and Energy
(B) Forests and Health
(C) Forests and sustainable production

(D) Forests and Biodiversity
i 9 feaw, 2023 fFg fawg @ d&fa € 2

(A) 59 3R St

B) = 3 @

(C) 51 3R fewrs IaA
(D) &1 R Sa-fafawua

16. Temperate grasslands of Africa are known as :

(A) The Steppes ' (B) The Velds
(C) The Downs (D) The Pampas
st @ viden g ® AeEl w1 oo W ¥

(A) RIS : i ABY AeE

(C) == (D) THE™

17. Who was the first President of Himalayan Hill States Regional Council (formed
in 1946) ? | '

(A) Shivanand Ramaul (B) Pandit Padam Dev

_(C) Swami Purnanand (D) Shyam Singh Negi

femmer feet Rem e FRAE (1946 F TET) F 9GH AW A J 2
(A) fEr< e (B) dfeq wewRa

(C) Tt quieg . (D) vm fag A

TBC : 23/P/1—A 7 _ P.T.O.
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18. Dodra-Kwar revolt took place under the leadership of

(A) Shobha Ram (B) Rana Hardev Singh
(C) Ran Bahadur Singh (D) None of these
reu-Far fage fFas g & gonm o 2
(A) ¥ T (B) TN &R foe
() T e fiiw D) T A W
19. Who became the Chief Minister of Himachal Pradesh for maximum times ?
(A) Y.S. Parmar "~ (B) Virbhadra Singh
(C) Shanta Kumar (D) Thakur Ramlal
e W A waifusd 9R gea W S 9 2
(A) €. TH. THR (B) s foe

(C) M= HHAR (D) JrEHRT THETA
20. Winnowing refers to : |

(A) Separation of érain from stalk

(B) Separation of components from mixture

(C) Separation of large sized impurities

(D) Separation of water vapour from liquid

frsaras weema ¥

(A) efedi & =&t N gUF FE

(B) fasr JEFEl F gAF HE

(C) 92 HU & YFH HC

(D) V& a9 N WA A YUF F
TBC: 23/PI—A 8



21. Given below are two statements :

Statement I : Gati Shakti digital platform involves the creation of a common

umbrella platform through which infrastructure projects can
be planned and implemented.
Statement II : Gati Shakti Digital platform is based on twelve pillars.
In the light of the above statements, choose the most appropriate answer from
th(.e options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct Iand Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
o @ w9 R T F
leﬁwm@?m%mmﬁgﬁmﬁﬁmwaﬁaﬁm
M W TEd & oin 3% @ R ST wea R
WII:W&IWWWW?&ﬁW%HﬁH%!
et o # R W AR RA M el A ¥ TR I SR A T
it : _ '
(A) w94 1 3R ®oF I 31 W&
(B) Fud I 3R %o II I Tora &
(C) F9 1 §& & iR Fu II o @

D) 94 1 T ¥ 3R w11 98 ¥
TBC : 23/P/[1—A : 9 ; P.T.O.



22. Given below are two statements -
Statement I : Honey Mission was launched in the year 2017.
Statement II : Sweet Revolution promotes the apiculture in India.

In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statement IT are correct
(B) Both Statement I and Stafemeﬁt II are incorrect
- (C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
FR q weF gy MU ¥
FOA 1 : UG fed # yEem @ 2017 F w1 o
anﬁz(tﬁé})mwﬁngﬁ@?waﬁméﬁ%l
wﬁf%rﬁaamﬁ%mmﬁ%ﬁﬁnﬂﬁﬁﬁﬁ@maﬁammﬁm
HIvA
(A) o7 I 3iR ®oF II 3R wdr &
(B) %9 I 3R For II 3 e &
(C) %97 I §& & 3R &94 II Tom &

D) 97 I o ¥ SR w11 98§

TBC : 23/P1—A 10



43. Given below are two statements :
Statement I : ‘The 1857 Revolt was a war of fanatic religionists against
Christians” — Statement by Sir James Outrém.
Statement II : “The so called First National War of Independence of 1857
is neither first, nor National, nor a war of Independence.”

— Statement by R.C. Majumdar.
In the light of the above statements, choose the most appropriate answer from
the options given below : '
(A) Both Statement I .and Statement II are correct
(B) IBoth Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
2 Q F Ry R

w1 : ‘1gsy w1 fadre i @ daEdl @ faes 3@ W' — WO SR
w1 FEA

=g 11 : ‘' 9% auhiyd 1ss7mummﬁm—qﬁrﬂum,ﬂ€tu@aaﬂ1
3@ e A - SR AR HFE

et we s W Y R m fawed § ¥ Wl Sfed IR A TS

ﬁﬁﬂa:

(A) w97 [ 3R w97 11 3 @& ®

(B)$m13ﬂ!a¥ﬂ=}llé\=ﬁﬂaﬁ%

©) # 1 ¥@ ¥ 3R wom II e ¥

(D) o4 1 Tem & 3R FuA 11 W@ R

TBC : 23/P/1—A | 11 P.T.O.



24. Given below are two statements : o)
Statement I : ‘Samavartana’— is a caiegory of Hindu Slaves.
Statement II ; ‘Sankarvarman’ — is considered as the founder of the Lohara

Dynasty of Kashmir.
In the light of the above statements, choose the most appropriate answer from
the options given below : |
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement IT are incorrect
(O) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
TR P Fy fig m ¥ .
e - feg TR W 8'?Uﬁ %’l
F9T 0 ;v aﬁmﬁz%%wmmmm%
Wﬁﬁf@amﬁémmwﬁ%ﬁﬁﬁﬁmiﬁ%mmmmw
HIY
" (A) ?Wllaﬂ'{’mﬂﬂﬁﬁﬁﬁ
(B) a%er—rra?hwm II M TTew €
C) 97 1 & ¢ 3R %97 Il 7@ &
(D) F97 1 T ® 3R wow 11 & &

TBC : 23/P1—A 12
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95.” Given below are two statements :

Statement I : President cﬁn dissolve the Lok Sabha on the advice of Speaker.

Statement II : Rajya Sabha under Article 312 enjoys special power to appoint

members of Human Rights Commission.
In the light of the above statements, choose the most appropriate answer from
the options given below : |
(A) Both Statement I ahd Statemenf II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II Iis correct
2 @ FA g ™ T ¢ |
O 1 : TN Ay TR W A G W T FFRdl §)
WII:QWMZ%&HTTHIWWW%&TWWWWW
: m@mﬁﬁgﬁam,%.
e Fod @ o W AR kA T fawed § ¥ g St IW W g
HIA |
(&) Fo 1 3R w10 S 9@
(B)au%lai’nwnaq‘im%
(C) %9 [ ¥ ¥ iR Hud II T &

(D) %97 1 T € oK wua II 9 ®

TBC : 23/P/1—A 13 P.T.O.



26. Given below are two statements : et

Statement I : National Flag was adopted by the Constituent Assembly on
22 July, 1947.

Statement II : Neelam Sanjiva Réddy. has also worked as Speaker, Lok Sabha
prior to his election as.President of India.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement IT are correct

(B) .Both Statement I and Statement II are incorrect

© StatementlI is correct and Statemeﬁt II is incorrect

(D) Statement I is incorrect and Statement II is correct

D Fo e M E _ _

FT 1 : WiayH 99 3 22 o, 1947aﬁnghsiéﬁﬁgmﬁm4w

T I - Fom Foftan 35 o B T @ g @ g e ww # sy @
SRR O T i

wﬁ%mmﬁﬁwmmﬁ-ﬁ&ﬁﬁmﬁﬁﬁmﬁammm

(A) F97 I 3R &y I ¥t wdt &

(B) mﬂaﬂwamuaﬁmﬁ

(C) ®u7 1 W& ¥ iR %o 11 Tom ¥

D) Fg7 I T & IR w10 9 2
TBC : 23/P/I—A : 14



27. Given below are two statements :

Statement I : Strong Sustainability Rule is a rule which requires a separate
preservation of each category of critical asset, assuming these
to be complements rather than substitutes.

Statement II : Weak Sustainability is a rule which seeks to maintain the
aggregate monetary value of the total stock of the assets,
assuming a high degree of substitutability among the various
asset types.

In the light of the above statements, choose the most appropriai;e answer from

the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
T Q wF faw TR -
w1 : @nu@ﬁﬁ%ﬁmwmﬁm%mﬁmwm#m
avﬁ%@mnwmﬁmmaﬁ%,uﬁmﬁgq%ﬁw
F T9E TH ¢ ' '

Wllzmﬁ?ﬂmﬁﬁw%ﬁmﬁf%@am%ﬁamwaﬁ
T T F FRW wE ¥, 98 g fE fafe e e w
9 wfwer @ 3= feult ¥

Eﬁﬁmﬁ%mmﬁmmﬁﬁﬁﬁﬁmﬁmmmwaﬁm :

(A) ®ud I 3R wo 11 3 W6 ©

(B) F I 3R & II il e €

(C) ®e 1 W@ ¥ R word I Tew ¥

D) Fg 1 T ¥ AR w1 @ R

TBC : 23/P[I—A _ 15 P.T.O.



-

28. Given below are two statements : _
Statement I : The theory of Unbalanced Growth was advocated by Prof.

Hirschman.

Statement II : The theory of Unbalanced Growth states that investment should
be first made in certain core sectors of the ‘economy which
have a high degree of complementarity. Once, the process of
growth is initiated, it will spread to other sectors through

forward and backward linkages.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II js correct

RO B ) _

FIT 1 : sqferd fawm & fagla =1 a@em W, ity 3 1 o5

mﬂllzﬂﬁﬁﬁﬁﬁmﬁﬂmﬁm%%ﬁﬁw%ﬁ&%ﬂw@@@
& A b S ey R s wR S @) o AR, e w6t
mﬂﬁaaﬁ%w,%mmﬁﬁﬁﬁ%w%mﬁ
T Bel W

wﬁmmﬁ%wmﬁ%ﬁqwﬁmﬁﬁmwmwwaﬁﬁa:

(A) F97 I 3R FoF II 3 ot §

(B) %91 I 3R ®uq II 31 7o §

(C) %97 I & § 3R F97 II Tom &

(D) Fo7 1 7Tem & o Fo 11 W %

TBC:23/PI—A 16
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29. Given below are two statements :
Statement I : The percentage of the population aged 65 years and above
in India as of 2021, is around 6.2% of the Indian population.
Statement II : The population growth. rate in India as of 2021 is around 0.98%.

In the light of the above statements, choose the most appropriate answer from

the options given below :
(A) Both Statement I and Statement II are correct
 (B) Both Statement I and Statement II are incorrect
(©) Stgtement I is correct and Statement II is incorrect .
(D) Statement I is incorrect and Statement IT is correct
ST I : 2021 TF @ # 65 T4 3R IR stfern g F TTEEA FI FRE RS

SHEET F A 6.2% ¥
T 11 :2021 9% 9Rd § wHEen gfg & e 0.98% ¥
mﬁm%ﬁ%mmﬂ%mmﬁmﬁ%wﬁﬁmmmwaﬁm:
(A) ®97 I 3R w9 11 <F1 98 €
(B) ®ud 1 3R & II <+ 7o €
() A 1 §& ¥ 3R w9 11 T

(D) ®o 1 Tod & 3R w11 T8 %

TBC : 23/P1—A 17 _ P.T.O.



30. Given below are two statements -

Statement I : The percentage of the population that is employed in service

sector in India as of 2021 is around 32% of the Indian

population.” :
Statement II : The percentage of ‘the population that is employed in the
industrial sector in India as of 2021 is. around 30% of the

Indian population.

In the light of the above statements, choose the most appropriate answer from

the options given below -
(A) Botﬁ Statement I and Statement IT are correct
(B) Both Statement-I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
e R wew fRw o ¥ _
w1 2021wwﬁ@mmﬁwﬁmwaﬂvﬁmﬁwmﬁamﬂwm
T 32% Tl
AT 11 :2021 T WA shehfire & # Frif e F1 whm s e
F AT 30% ¥ '
mﬁmmﬁ%wmﬂ%ﬁqmﬁaﬁdﬁﬁémﬁmwwwa@ﬁm
(A) ®2F I 3R o9 11 9 o 3
(B)WIS?REWII@'-??W%
(C) o I W ¥ AR FoA I T ¥
(D) % I Tom ¥ oiR wor 11 wé ¥
TBC : 23/P[I—A . 18
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31. Given below are two statements :
Statement I : Kutch Biosphere Reserve is known for Indian wild ass.
Statement II : Nilgiri Biosphere Reserve is famous for Red Panda.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement IT are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

o w7 g mw ¥ -

FIT I : $=9 Rfam Saved F1 uyRdE Suelt 18 $ fag S oS )

FoF 11 :afl amfe Savea oa wer & fou wfeg B
wﬁﬁ@aaﬁ%mmﬁﬁﬁ@ﬁw&iﬁﬁmaﬁammm
Hifsra .
(A) FoF 1 3R Fo= 11 A a8 €

_(B) %9 I 3iR Fo= 11 H Te@ €

(C) o I W& ¥ iR Fud II e ©

D) 97 1 Tea ¥ R YA II W ®

TBC : 23/P/1I—A 19 P.T.O.



32. Given below are two statements :
Statement I : Most species in the world go extinct because humans kill them.

Statement II : The Western Ghats region harbours the largest global

population of Asian elephant.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I énd Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

T2 @ wm fgw ww ¥

w97 1 : fova 4 sfwivn yonfl fagqa @ owit € w=bife o999 3% ar [

Wn:nﬁmﬁméﬁrqﬁmmﬁﬁmmaﬁaﬁmﬁwm
ol

Ifafed Fodi & smuR W AR i ™ fawedl § ¥ ved P IW ow T E

= |

(A) o 1 3R w99 11 31 wd &

(B) %o I 3R Fem 11 i T €

(C) %9 1 9@ § 3R Fo I To@ &

(D) 97 I Tord ¥ 3R FyA I 9 §
TBC : 23/P/I—A - 20
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33. Given below are two statements :

Statement I : Force has magnitude as well as direction.

Statement II : Sliding friction is smaller than static friction.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

™ @ wy fgu U ¥

wYA [ : o@ & ufo awn e A 8 &1

FT 11 :7d oo e wfm & w7 ¥
mmawmﬁ@@ﬁmﬁamaﬁammm
Hifed

(A) Fo 1 iR w11 S a9

(B) %o 1 3iR &ud II SH e &

(C) Fo7 1 W& ¥ i Fo I Tom &

D) I I Tod € 3R FH9T 11 96 ®

TBC : 23/P/1—A 21 P.T.O.



34. Given below are two statements :
Statement I : The materials which allow heat to pass through them easily

are called insulators.

Statement II : The range of temperature in clinical thermometer is from 32°C
to 42°C.

In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
| (B) Both Statement I and Statement II are incorrect
(O Stétement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
= QX FwoA fRg Mo ¥
FOA 0 : W WY A A R T A Y vaEd A 2 E e wEew
Feld .
FI 11 :Sfed et § aam &1 afER 32°C ¥ 42°C ¥ ®
Iufifefe e & omuR | A= 3 7 fawedl § 4 9o 3o S|+ g
i |
(A) w1 3R Hua 11 IF T &
(B) %A I 3R Fem 11 i Toa €
(C) %% 1 &t § 3R %o II e &
(D) g1 I T € 3R FuA 11 98 ®

TBC : 23/P/1—A 22
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35. Given below are two statements :

Statémeﬂt I : Responsible use of Artificial Intelligence in the Military
(REAIM-2023) Summit was held in Hague. B

Statement II : India-Australia Summit was held in April, 2023.

In tht;} light of the above étatements, (.:hoose‘ the .most app‘ropriate.answer from

t-hé optioﬁs given below : -

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement 11 are incorrect

(C) Statement T is correct and Statement II is incorrect

- (D) Statement I is incorrect and Statement II is correct

™ @ Ry T | _
w1+ foferd) 7 siffinforae g2 & iR S (REAIM-2028) % S
- frer atﬂqa g H smrnfsg fohan

_IIU_EFWII G- sTfern forer oo sl 2023ﬁmﬁa’?mmwn

mmwémmﬁﬁﬁﬁﬁm_ﬁﬁmsﬁﬁmmm
ey 3

() Fo 1 3R o 10 9w E

©(B) I 3R w11 S T #

(C) FU 1 FI??f ¥ ok w97 I Tem

(D) &:rWIﬂaa%aﬂtmmIIHﬁ%

TBC : 23/P/I—A . 23 = _ B, P.T.O.



36. Given below are two statements :
Statement I : Sheffield city in England is famous for films.
Statement II : Oporto city in Portugal is known for oil fields.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(&) Statgment I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
4= ) wyq g 7w ¥

Faq I : Ffe %1 Yhree W fhedl & faw S S ¥
HUF 11 : T 1 AORS v qa as & fow wemy ¥
sefifefed Foll & omuR W 2 4 1 fahedt & ¥ wa® Sfaq W w TS
Hifed -

(A) w9 1 3R wud 11 39 &8

(B) &9 I 3R %A 11 3 e %

(C) %7 1 W&l § 3R &em II o ®

D) F97 I Toa ¥ AR F I T ©

TBC : 23/P/1—A 24
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37. Given below are two statements :
Statement I : Thé ancient Kulindas had a Republican form of Government.
Statement II : The Rajas of Chamba belonged to the Chandra (Lunar) line

of the Rajputs.

In the light of thé above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
A o e E
w1 : WA Hier H TURSTE IEA GOl o
FO 01 ;591 & T TG B wF 9 F A
Iufifefed wol & 9R W =2 A ™ fowed 4 @ ¥=9 3f9@ SW F @
HIGA : |
(A) %9 I 3R Fom 11 A o
(B) &g I 3l &ga II <1 o €
(C) ®uA I T8 ® iR &ua I 7o &

D) Fu I 7o ¥ 3R w11 98 ®

TBC : 23/P[1—A 25 2RO,



38. Given below are ‘two statements :

i -Stat'erhexllt‘ I : Chandra Tal lake io Laﬁaul aod ,Spiti_digitrict of Himachal‘
Préldesh is about 6000 m abO_V.‘?. sea‘_ levo%,

Sta’tement' II : Suraj Tal lake is the source of Spiti river in Himachal Pradesh.

In the hght of the above statements, choose the most approprlate answer from

: the optlons given below :

(A) Both Stat;ement I and Statement II ore correct

-_(B)_ Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statomont Iis inoorrec't_ andh IStatemont H is-correct

FwE ] %ﬂﬁom%mﬁwmﬁr@rﬁﬁ%msﬂawﬁemﬁ

Bl ﬁ%ﬂs‘ R fem 1

w11 mmﬁﬁrﬁrﬂ?ﬁwmwmﬁ@m%t '
mﬁ%@aaﬁ%wmwﬁﬁﬁ@ﬁwﬂﬁ@mwd sm?lg;ﬂcl :
(A) % 1 3R Fo 1S W §

(B) ¥ 1 iR wuw II oF Teg &
(C)mmlﬂﬁ%a?ﬂmmﬂm% ¢
D) Fo 1 e ¥ 3w 11 @ ¥

TBC : 23/P/1I—A ' 28
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39. Given below are two statements :

Statement I : Bara Lacha Pass in Himachal Pradesh connects the Manali

with Kaza.

Statement II : Sonapani is the longest glacier of the Pir Panjal range near

Rohtang Pass.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
N wy fgw mw ¥ _
wn%nmauémmammaﬁm@ﬁm@sﬂ?;m%

H9F I : SOt Jgar 2f & g9 figg 9k e 39 1 el SS9 @R )
Iofifafad 94l & MuR W 9 @ T fowed # § wod 3@ SW W @
Hifod

(A) w1 ok wo IS W@ ¥
(B) 9 1 3R & 11 3F 7o
(C)Wlﬂﬁ%sﬂ'{mmllﬂm%

D) F97 I T & 3R wuF II 96t ©

TBC : 23/P/1—A 27 P.7.0.



40. Given below are two statements :
~ Statement I : Soldiers of Nasiri Battalion (Gorkha Regiment) situated in
‘Jutogh in Shimla started upriSing in 1857.
Statement II : The states of Koti and Balsan of Himachal opposed the British
rulers.

In the light of the above statements, choose the most appropriate answer from -

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is- correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
o Fya g 0 ¥

Fo 1 : Roen & 920 F o 7ot safem (fren Wadlz) @ wami 3 1857 &
ym e '

HIT 11 :feome & FE w@ aome oS Y o sty = fady fean
mﬁfaﬁm*ﬁ%wwﬁﬁﬁnﬂﬁwﬁﬁﬂmaﬁamwm
i |
(A) %97 1 3R Hu9 11 A w& ¥
(B) %o 1 3R ®a7 II 3F o &
(C) %97 1 W&l ¥ 3R &uA 11 o ¥
(D) ®g7 I T § 3R wu9 11 9 &
TBC : 23/P/I—A 28
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41. Arrange the following missions in India from newest to oldest :

(1) Vande Bharat Mission (2) Kaveri Mission

(3) Mission Indradhanush (4) Nipun Bharat Mission
Choose the correct answer from the options given below :
A) 1), 3), (2), @ B) (2), @), (1), 3)

©) @), @), 3), (1 D) 1), 4), (2), 3

yRa ® frafafas faedl & 9T § [ w9 # afted il
(1) a= ¥Rd faemA ' 2) wEd v

(3) fuvm s=uEw (4) frgqu swwa faee

= feg T fawedl # § WE SW F gAE wIGE

(A) (1), 3), (2), (4) ' B) (2), 4), (1), 3)

©) (2), (4), (3), (1) D) (1), @), (2), 3)

42: Arrange the following schemes in chronological order from the year of
launch : -
(1) Make in India
(2) National Skill Development Mission
(3) Startup India
(4) Prime Minister's Employment Generation Programme
Choose the correct answer from the options given below :
A) @), (1), ), 3) (B) @), (2), (3), (1)
©) (), (2), 4), (3) D) (), 4), (1), 3)
frafafea d9mel # 96 IRY 99 ¥ FEHHEE H9 § FaRdd Hifed
1) ¥ ¥ e
2 T I fawm fave
(3) wrEem e
(4) THT TR AR G FHE
2 fu T fawed § /A W@ ISW F g S
(A) @), (1), (2), 3) I (B) (4), (2), 3), (1)
© ), (2), 4), @) - D) (2), @), (1), 3)
TBC : 23/P/1—A 29 P.T.O.



43. Arrange these British Viceroys in chronological order :

(1) Lord Lansdowne (2) Lord Northbrook

(38) Lord John Lawrence (4) Lord Elgin I

Choose the correct answer from the options given below :

(A) 4), (3), (2), (1) (B) (4), (2), (3), (1)

©€) 3), (4), (2), (1) D) (3), @), (1), 2)

T fafewn s =5 FATER T |

(1) & e | @) W Al

3) = W = 4) e tfem wom

TR R T fawed § } w@ s oW g e . |

(A) @), 3), (), Q) (B) (), (2), 3), 1)

(C) (3), 4), (2), (1) D) (3), 4), (1), (2)
44. Arrange these Medieval Rulers of Mewar in chronological order :

(1) Hammir (2) Rana Kumbha

(3) Rana Mokal (4) Rana Lakha

Choose the correct answer from the options given below :

(A) @), (1), (3), @) B) @), @), ), @)

(C) (1), 4), (3), (2 ger (D) | (1), (4), (2), (3)

THAEIAN AAS F T AR H FAER A

1) w=R (2) oM FE

(3) WM HHe (4) TN @wEn

¥ e T el § @ W@ TR W g R

(A) @), (1), (3), (2 (B) 4), (3), (1), (2)

(C) (1), (4), (3), (2) 2 D) (1), (4), (2), (3)

TBC : 23/P1—A 30
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45. Arrange the following coal fields of India from North to South :

(1) Neyveli : (2) Umarsar
(3) Palana . (4) Kalakot
Choose the correct answer from the options-given below :
A) ), @), 3), @ B) (2), @), @), 3)
©€) @), 3),®, 1 D D, 6),2,® |
wid % Frefafen #er 451 1 3w @ efam @t st cafen @R
(1) el (2) IEER
@) wErm 4) =TT

A3 R g fomed § ¥ W IR F T R
(A) (1, @), 8), (@) .. B D, @), ®
©) @), ®), @), Q) - D) @), @), (2), 4)

46. Arrange the following river basins of India from lowest to High't-ast.in relation
to area : '
()7 Penne' s - | (2) Tapi
(3) Kaveri | (49 Narmada
Choose the correct answer from the options given below‘:
(A) (1), (2), 3), @) . B @,03),@®,®
(©) (3), 4), (), (1) D) @), 2), 1), (3)

R 1 frefafed 76 wifcdl w1 o 9 ¥ 92 e ® MR W SgaRen
Ff - ' > LB

1) T=R ‘ (2) ardt

(3) wrad @) T

A Re T fawed § A wE TR W g R

@ @,26,¢ B @060

(C) 3), 4), (2), (1) D) ), 2), 1), (3)
TBC: 23/PI—A 31 i $&PTO;



47. As per Article 110 of the Constitution what is true about money bill ?
(1) All the expenditure made by Prime Minister of India
(2) Imposition, aBolition, remission, alteration or regulation of any tax
(3) Appropriation of money out of consolidated fund of India

(4) Custody of the consolidated fund or contingency fund of India, the payment

of money into or the withdrawal of money from any such fund
Choose the éorrect ansv?er from the optiqns given below :
(A) (2), (3), 4) (B) (2) and (4)
(C) (), (@), 3) M 3), @), (1)
ﬁﬁm%aﬁno%mmﬁa%aﬁﬁwuﬁ% ?
(1) 9Rd & 3uE 50 g0 fan mn wegol =
2 fodt = =1 sifedm, S, afer, aftedq =1 fafEem
(3) wra ! gfeq fafa & ¥ = =1 faf=m
(@) T F wf iy ereRfers ffa @ s, T fee ffa § wm s w
a1 399 | uq e
9 Ru U fawed # § W SW H g B
(A) (2), 3), (4) : (B) (2) 3R (4)

(C) (D), (2), 3) O ), @, (1)

TBC : 23/PI—A 32



48. Arrange the following sta.tements in proper chronological order :
(1) Rio +20 Summit which resulted in an outcome document, “The Future We
Want” in which states committed to develop a suite of SDGs.

(2) Millennium Summit which resulted in a set of targets like environmental
sustainability, the eradication of extreme poverty and equality for women

now known as MDGs. ,
(3) Brundtland Report, “Our Common Future” emphasised the need for the

integration of economic development, environmental protection and social
Jjustice and inclusion '

(4) COP-27 Summit in which it was agreed to set up a Loss and ﬁamag:e fund
to provide ﬁnanc1a1 assistance to poor nations, stricken by climate dlsaster

Choose the correct answer from the options given below :

(A) (D), (2), (3), (4) (B) (2), (1), (), (3)

(C) @), (2), 3), (1) D) 3), ), (1), (4)

frafafem Fo ® Sfoq FomeEs § =afus s .

1) e +20 forer wem fome wRomaey ‘2 R/ A a T o TR
mmm,mmmammmmmam
gfwg a1

(2) mmmmmmmmmmm
aﬂivﬁwﬁ%mmﬁﬁmﬁm@wmm%mﬁm
S g :

(3) weeie fd, ¢ mmmwﬁw”%aqﬁa;mm wiammmammm
mmmamﬁaﬂwmmﬁm

(4) COP-27 Rrer wHer faad Femrg o9e1 ¥ i@ w397 #) fasfta deraar wem
& fau aft ok aft a1 wife 3 w el o

T R faded § A wh W W T B
(A) (1), (2), (3), (4) (B) (2), (1), ), (3)
(C) 4),(2), (3), (1) : D 3), (2), (1), (4)
TBC: 23/P/1—A 33 PTO,



49. Arrange the following Schemes in proper chronological order of their
implementation :
(1) Ayushman Bharat-PMJAY
(2) Pradhan Mantri Ujjwala Yojana
(3) Pradhan Mantri Gati Shakti Yojana
(4) Pradhan Mantri Garib Kalyan Anna Yojana
Choose the correct answer from the options given below :
A) (1), 4), (2), 3) B) (@), (1), @), 3)
(C) (4), (2), (3), (1) D) (3), (2), (1), (4) :
fretfafen Gemel | 398 FEieER & Sfua denen § FEfeE S
(1) SSH TRE- AT
(2) FUM WA Issae Fe
() wum Wt wfq vl A
4) WA W TE FEO = AN
9 Ry M fawed # @ T IW F FIE FIGT

A 1), @), @), 3) B) @), 1), @), 3)

©) @), (2), 3), (D M 3),@),0), 9
50. Consider the following states :

(1) Haryana (2) Punjab

(3) Uttar Pradesh (4) Bihar

With reference to the States mentioned above, in terms sex ratio—Female per
1000 males (according to census 2011), which one of the following is the correct
ascending order ? Choose the correct answer from the options given below :

A) (1), (2), (4), (3) (B) (1), (2), (3), 4)
©) (2), 4), (1), (3) D) (4), (1), 3), (2)
frefafen T R faer #:ifd .

(1) efEmm (2) =

(3) IW WW ' (4) fesr

S Sfecifiaa et 3 g #, fermaa—afen 9fd 1000 TEW (AT 2011 % ATER)
& Hed #, frefafed § ¥ SW TE TR FH € ) 49 ¥ M fasodl # ¥ W@
W ﬂﬁ'& $ |
(A) (1), (2), @), 3) - B) 1), (2), (3), 4)
(€) (2), @), (1), 3 D) @), (1), 3), (2)

TBC : 23/P/1—A 34
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"51. Consider the following Acts and Policy :
(1) Water (Prevention and Control of Pollution) Act
(2) Water Cess Act .
(3) The National Water Pc_’licy
(4) Air (Prevention and Control of Pollution) Act

With reference to the Acts and Policy mentioned above, in terms of their starting

year, which one of the following is the correct ascending order ?
Choose the correct answer. from the options given below : -
A) (1), @), @), 3) B) (1), @), (3), @)
(©) (@), @), (1), @) @ ), (1), 3), @
Pt st o A @ R R
(1) 5 (Sgom 1 Jpam iR o) afufian
(2) @ v Afufrm
3 T v
- 4) m(mﬁmaﬂ?ﬁﬁﬁ) sfufram
wmﬁﬁzﬁﬂﬁaﬂtﬂﬁ%‘dﬁﬁﬁ,mmaﬁﬁﬁﬁﬁﬁ,ﬁﬂﬁm
q ¥ F R o ww ¥ 2
R A ™ fawed § ¥ @ 3w I
@ D, @), @), 3 B) ), @), (3), @)

(©) (2), @), (1), 3) : D) (@), (1), 3), (2)
TBC : 23/P/I—A 35 _ P.T.O.



52. Arrange the following conventions in chronological order .
(1) Convention to combat desertification
(2) Convention on biological diversity -
(3) Convention on trade in endangered species
(4) Convention on wetlands
Choose the correct answer from the options given below :
(A) (@), (3), (1), (2) B) 1), ), 3), 4
(©) (@), 3), ), (D) D) @), @), (3), 1)
waEas 0§ Frafafen a@eE & afm :13
(1) weeetEm & fuet & fag s
(2) e fafquar W F<EwH
(3) F@YE Jfaal B SR W HEYE
(4) IRy W FEA
49 fau Mo fowedi § F W IW F T HA
(A) (4), (3), (1), (2) y B) (1), (2), 3), 4)
() (4), (3), (2), (1) D) @), (2), 3), (1)

53. Arrange the following states in relation to percentage of the total area under
forest cover from highest to lowest :

(1) Mizoram , : (2) Meghalaya

(3) Manipur 4) Nagaland

Choose the correct answer from the options given below :
(A) (4), (2), (D), (3) (B) (1), (2), 4), (3)
(C) (1), (2), 3), (4) D) ), 3), (2), (1)

A B st FA A%a ® yava B dev § Frafafen o= @ s=Ow |
frean #1 3iR orafem Hifd -

(1) fasim (2) AU
(3) (4) MRS
49 feu o famed # ¥ W IW W PE B
A) @), ), 1), 3 B) (1), (2), (@), 3)
©) (1), (2), 3), (4) D) @), 3), @), Q)

TBC : 23/P/1—A g
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55.

Arrange the following animal products in terms of percent protein from highest

to lowest :

(1) Cow milk (2) Egg

(3) Meat (4) Fish

Choose the correct answer from the options given below :
(A) (1), (2), (3), (4) (B) (2), (4), (1), (3)
(€C) 3), 4), (2), (1) D) (1), 3), (2), (4)
frefefan oy Sorl @ ofev DR = 9 P MR W IR Y A9 P ww § day .
(1) T4 gy (2) 3=

(3) W (4) e

A e o fawedi § @ W@ SW W A &

(A) (1), (2), (3), (4) (B) (2), (4), (1), (3)
(C) 3), 4), (2), (1) D (@), 3), (2), (4)

Arrange the following international groups in order of their establishment from
older to newer :

(1) Paris Club

(2) Organisation of Petroleum Exporting Countries (OPEC)

(3) Indo-Pacific Regional Dialogue (IPRD)

(4) Wassenaar Arrangement

Choose the correct answer from the options given below :

(A) (2), 4), (1), (3) (B) (1), 3), (4), (2)

(C) (1), (2), (4), (3) : D (1), (2), 3), (4)

frefafen saisda wqEdl & STt e & e # WA @ U F w6 4 aRked
HIoA :

(1) w w=@ :

(2) Afeam frafas W &1 Tre (3)

(3) fig-wwim ety awl (smdemE)

(4) TEAR FFE>dT

e fer T fawed § @ W@ IW w1 g A

(A) (2), (4), (1), (3) (B) (1), (3), (4), (2)
(C) (1), (2), (4), (3) D) (1), (2), (3), (4)

TBC : 23/P/1—A : 37 P.T.O.



56. Arrange the following deserts of world from smallest to largest in terms of Area

(1) Gobi (2) Thar

(3) Kalahari (4) Taklimakan
Choose the correct answer from the options given below :
@ ), @, 3), @ B @), @), @), Q)
(©) (2), @), 3), (1) @ ), 3), (2), 4

fova % Frefafes weed # dva # gfe § 7@ 92 § A FO@ W@ FA A
Zaferm FifY ;o :

(1) e (2) 4R

(3) et (4) wHTRH

2 e T fawedi 4 | W@ W F A Hi6A

A (1), @), @), @ B) @), @), @), (1)
©) (), @), 3), (V) ' @) ), 3), @), @

57. Arrange these events related to the History of Himachal Pradesh in chronological
order :

(1) Mass Movement in Nalagarh : (2) Land Movement of Sirmour
(3) Peasant Movement in Theog (4) Farmer Movement in Chamba -

Choose the correct answer from the options given below :

(A) (2), (1), @, 3 (B) (1), (2), 3), 4

€ ), 2,4, 3) _ D) (2), (1), 3), (4)
femrad W & 3fem ¥ I @ Tesh | FEEER T
(1) ErE § 59 e @) fooik # yft sRem
Q) feam ¥ feum sideE (4) == § feue e
R iy Ty fawed § A W W w gTE wEE ;0

A) (2), (1), @), 3) (B) (1), (2), (3), 4)

©) (), (2), @), 3) D) (2), (1), 3), 4)

 TBC: 23/PI—A 38
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98. Among the following which is correct about Mandi conspiracy ?
(1) Mandi conspiracy took place under the leadership of Gadar Party in 1914-15
(2) Some Gadar Party membG;rS from USA came to recruit workers from Mandi
and Suke-t States
(3) Miyan Jawahar and Queen of Mandi Khairgarhi came under their influence
(4) In this venture members of Gadar Party. were succéssful
Choosé the correct answer from the options given below :
A) (D), @), 3) B) (2), 3), @
€ 3), @), (1) (D) (4) and (2)
Freafifen & 2 Wet weom & W # @ W 2
1) wE ved 1914-15 H T U & g H gN
@ TR U % %o R T e Td gHA T § wedwdl il w0 g om
3) ﬁﬁmaﬁs’t@v@aﬁmmmwﬁ#g
(4) 39 A § MR UE & G # ghear foef
TR U 7w fowedi # @ W@ SW & gAE w6
(A) (i), (2), 3) (B) (2), 3), 4

(C) (3), 4), (1) D) @) ¥R (©2)

TBC : 23/P/I—A | 39 P.T.O.



59.

60.

Towards its journey to become full state what is correct about Himack,l
Pradesh ?

(1) It became Chief Commissioner’s Province in 1948

(2) It became Union Territory in 1956

(3) It got its first Chief Minister in 1967

(4) It became 18th State of the Union in 1971

Choose the correct answer from the options given below :

A) (), @), 3) (B) (3), 4), (1)

€ (1), (2), 4 D @), (2), 4) |
mmﬁwwwﬁmaﬁwéwuﬁww% ?
(1) I€ 1948 H [BA HgE &1 W &

(2) & 1956 H HZAHG WY T

(3) T 9 wee q&A Wit 1967 H fem

(4) T 99 F1 184l W 1971 ® &

= ke T fawed § @ W@ W w1 g Ffed

(4) (1), (2), 3) (B) (), 4), (1)
(€ ), (2), 4) D) 3), (2), (4)

Arrange the following elements in terms of their atomic number from lowest
to highest :

(1) Carbon : (2) Oxygen

(3) Sodium (4) Silicon |
Choose the correct answer from the options given below :
(A 4), 3), (2), (1) B @), @, ), ®

(©) (2), 4), (1), (3) - D). (1), (2), (3), (4)

freafafge 7l ® 791 WY e # YR W 9 ¥ Wed w9 A smafe|
HIfR

(1) ®A Q) s

(3) wfsaw - (4) fofesm

T ey T fawed # @ W@ SW F IR HA

(A) @), 3), 2), Q) - B 3), @), 1), @
© 2, @), (), (3) ) D) (1), (2), 3), 4)

TBC : 23/P1—A 40
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bl.

Consider the following statements :

1) Nuclear energy contributes abqut 10% of the total electricity generation
in India

(2) India has 22 nuclear reactors in 7 power plants

(3) Nuclear energy is the fifth largest source of electricity in India

(4) The upcoming nuclear power plant at Gorakhpur village pertain to Uttar

Pradesh
Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (4) only

(C) (2) and (3) only (D) (3) and (4) only

frafafea w94 w faar IR .

(1) w%mﬁﬁwﬁwﬁmmmmmwm%%l
2) m-%vmmﬁﬁﬁmfr@t% I
(3) " Fe vRg ¥ fawet w1 diwal @9 991 99 2

(4) TRER T § S T S G IW WY F et B

2 g M fawedt & @ W@ IW w1 g w6 |

(A) ®ad (1) 3R (2) | (B) @aa (2) 3R (4)

(C) ®ad (2) 3R (3) (D) Had (3) 3R 4)

TBC : 23/P/1I—A 41 P.TL.



62. Consider the following statements :

(1) Ken river passes through Panna Tiger Reserve

(2) Ken-Betwa link is a road network project

(3) Ken and Betwa are the tributaries of Chambal river
(4) Matatila dam is located over B;etwa river

Choose the correct answer from the options given below.':
~(A) (2) and (3) only (B) (1) and (4) only
(©) (1) and (3)-only (@) (2 and (4) only
frefefed s w faar #ifsd .

(1) &9 7 7= IR frod ¥ Toret ¥

(2) FA-daa fow wF wew Yeaw g ¥

3) ¥ 3R A W @ v A

(4) HEwien sty aqar ¢ w ferm &
ﬁ%ﬁqwﬁﬁﬁﬂu@mmwﬁm:

(A) ®ad (2) 3R (3) (B) ¥ (1) R @)

(C) ®ad (1) 3R (3) - (D) wad (2) IR (4)
TBC : 23/P/I—A 42



-

63. Consider the following statements :
(1) Aligarh Scientific Society was founded by Zakir Hussain in 1878
(2) Prarthana Samaj was established on 1866
(3) Paramhans Mandali was established on 1849
(4) Manav Dharm Sabha was established on 1844
Choose the correct answer from the options given below :
(A) (3) and (4) only R Ak el
(C) (2) and (4) only . (D) (2) and (3) only
frafafaa st ‘T{ faer =i d
(1) e wEfefrs drmgdt wt wrea wife g8 3 1878 F @
2) mﬁmwﬁmws&ﬁ@
(3) UHEW WS H TG 1849 H g
(4) 9FE uq | HT TGN 1844 H T
TR e v fawedi § @ W IW F @ i
(A) ®ad (3) 3R 4) (B) ®Fd (1) 3R 4)
©) Fa@ (2) 3k (@) D @ (@ @)

TBC : 23/P/1—A 43 . PLO.



64.

Jonsider the following statements : s

(1) “Tuzuk-i-Baburi” was written in Pure Persian Language

(2) Poet Amir Khusro’s first Masnavi on Historical subject is Qiran-us-Sadain,
which was written in 1289

(3) “Jhanjhari Masjid” at Jaunpur was built by Hussain Shah

(4) Sufi Saint Sidi Maula was put to death by Sultan Jalaluddin Khalji for

attempting a rebellion

Choose the correct answer from the options given below :

(A) (1) and (4) only (B) (3) and (4) only

(C) (2) and (3) only (D) (2) and (4) only

frafafaa wadi w faar wifsd @

(1) “qo-v-aelt” faye wrEd ww # fa@n moa :

(2) ®fa spit gad =i Waerfger faodi &1 d@ veeh TwTd feug-ara & s 1289
q foret 78 o |

3) SR F Fielt A @ i g8 e 3w an |

4) B w4 fagl dien | goar sreneE faest ¥ fagde # www w0 S fag de
% R IR @ i) , _

ﬂ%ﬁqmﬁaﬁﬁﬁuﬂwmwﬁﬁﬁ:

(A) F&ad (1) 3 (4) (B) ®ad (3) ¥R (4)

(C) Fad (2) 3R (3) | D) a4 (2) 3 @)

TBC : 23/P/1—A 44



[

65.. Consider the following statements :
(1) Congress Socialist Party was established in 1933
(2) The book “Marx, Gandhi i) SolalER i ribten by Jaya Prakash
Narayan
(3) The book “Radical Humanist” was written by M.N. Roy
(4) The book “Unhappy India” was written by Lala Lajpat Rai
Clicose. thé. correct answer from the options given below :
(A) (2) and (4) only B (@ and ) oaly
(C) (1) and (4). only (D) (3) and (4) only
frefafes ot w faar s .
(1) *Pg awfae 9t # e 1933 § g
(‘2) ", Tl g defasn’ e S AP Y feh o
(3) ‘“Uewa 's‘:{qﬁiz TEE TR @ A faet o
(4) "mﬁm”wmmm%ﬁ@n
M2 fer m fawed § ¥ W W w1 g S
@ F7 @ (B) % (2) 3N (3)

(C) ®aa (1) 3R 4) (D) wHaa (3) 3 4)

TBC : 23/P/1—A 45 P.1.0.



66.

67.

Consider the following statements :

(1) Brown coal is known as Tertiary coal in India.

(2) Lignite coal is superior to peat in India.

(3) The largest lignite deposits of India are at Korba.

(4) Nichahom coal field is located in Gujrat.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (D) (1) and (4) only

frafafea sl W faar F:ifs@

(1) 9Ra ¥ R A B AR BEA ® €9 H FAOAC@ L

(2) wRa # farme Fgen de F 399 @ B

3) WRa # farge & Te¥ & siER FRa1 A ¥l

4) FraEm Fgen &% Toea | fua g

I fu mu fawedl # A G SW w1 g N

(A) FFa (1) 3R (2) (B) #Haa (2) 3 (3)

(C) ®aa (3) 3R (4) (D) Faa (1) 3R (4)

Consider the following statements :

(1) Sardar Sarovar project is located on Sabarmati river of India.
(2) Bhawani Sagar irrigation project is located in Erode district of Tamil Nadu.
(3) Mayurakashi irrigation project pertains to Chambal river of India.
(4) Matatila project pertains to Betwa river of India.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (4) only

(C) (3) and (4) only (D) (@) and (3) onljr

frfafen ot w foer Fif9d .

(1) 9@ # TER TR gfEs g G ) fem

(2) yart grR fieE i dfteg ® Qe T # fem w0

3) WRa #t wgueh fourE wfEem wea & ¥ Fefad @)
(4) 9RG ¥ madten aRESE 1 Hey dqan T& ¥ T
= Ry mu fomedl #§ ¥ W& SW F gAE I
(A) B (1) 3R () (B) Faa (2) 3 (@)
(C) &aa (3) 3 (4) (D) @aa (1) 3R (3)

TBC : 23/P/1—A 46 :



68. Consider the following statements :
(1) Constitutidn’s 61st amendment is related to the reduction in voting age.
(2) Constitution’s 93rd. amendment is related to reservation for EWS category.
() Constitution’s 86th amendment added Article 19A in the Constitution.

(4) In 2002, duty of parents to provide education to their children from 6 to

14 years was added.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (2) and (3) only

© @ and @) only (D) (4) and (1) only

frafafen wol w farar Fif |

1) mmmeﬁ#wﬁmmaﬁﬁaqazﬁ%ﬁﬁm%

) ﬁﬁuﬁm%a‘f##hm wﬂm‘mﬁmﬂémmﬂﬁw%l

(3)'ﬁm$seﬁm%m#ﬁmﬁmﬁ 19A et T4

@) w1 2002 % st G0 o 6 R 14 & = W e 23 0 e
™

R Ry M el § A W@ Iwow g AR

(A) P (1)'am (2) EB) Fad (2) 3R (3) .

~(C) ®Fa@ (3) 3R (4) (D) Haa (4) 3k (1)
TBC : 23/P/I—A : 47 P.T.O.



69.

70.

-

Consider the following statements :

(1) Part-IX was inserted in the constitution by 73rd constitutional amendment.
(2) Art. 243D provides reservation to women in Gram Panchayats.

(3) Panchayats are not dependent on States for their budgets.

(4) State legislature can’t make laws for auditing the accounts of Panchayats.
Choose the correct answer from the 6ptions given below :

(A) (1) and (2) only (B) (2) and (3) only

(C) (3) and (4) only (D) (4) and (2) only

frefafias 91 W faar wifsa .

(1) wHfeum ¥ wmn&mﬁmﬁmwﬁmmﬁmw%l

(2) oTR-243D UM dugdl # wfgen W weE @ T

(3) THEEd I T B wsul W Fasl A §

(4) TERE @ aiffez g U faurmved wIR TG S A

3 frn o fawed § ¥ @@ I W TR WA

(A) @®a (1) 3R (2) (B) #aa (2) 3 (3)

(C) ®ad (3) 3N (4) (D) %aa (4) 3R (2)

Consider the following statements : 4

(1) Article 340 of the Constitution deals with the appointment of Cormmsswn
for Backward Classes.

(2) Article 341 of the Constitution deals with Scheduled Tribes.
(3) Article 342 of the Constitution is related to Scheduled Castes.
(4) Article 342A has been added through 102nd Constitutional amendment.
Choose the correct answer from the options given below :

(A) (1) and (2) only : (B) (2) and (3) only

(C) (3) and (4) only (D) (1) and (4) only

frafafen o w =R 193 .

(1) dfgum ®1 o= 340 fumer o & omim i fgfem @ wafua 2
(2) dfaur #1 Ie3e 341 STQfEd SHWTa | FEfd B

(3) dfaum 1 orsde 342 oryfaa wifa ¥/ Hafum ®

(4) TR 342A GlawA & 1028 Hawf FeeR g Ster m R
3 Ry M freed § W IW W T AR

(A) F=a (1) 3R (©2) (B) ®aa (2) 3R (3)

(C) BT (3) 3R (4) (D) FFa (1) 3k @)

TBC : 23/P/1—A . 48



-

71. With reference to the World Development Report 1993, improved health contributes

to economic growth in four ways, consider the following statements :

(1)
(2)

3)

(4)

It reduces production losses caused by worker illness

It dgcreases the enrolment of children in schools and makes them worse
in learning

It permits the use of natural resources that had been totally or nearly
inaccessible because of disease

It decreases for alternative uses reSources that would otherwise have to

be spent on treating illness

Choose the correct answer from the options given below :

(A) (1) and (4) only (B) (1) and (3) only

(C) (1) and (2) only (D) (2) and (4) only

fava fawmg fOR 1993 & ey #, 95 WY IR T 4 s fawm #§ IreH
W %, Freafafes s ® faar #iRE .

(1)
(2)
3)

4)

I8 Hfgs SH & FRU B T IARA THAH H HH FE ©

Jg el § gedl B THET H FH w1 ¢ AN IR dEd # 9e T
a% 3 Wk dEE @ s # s 3 @ A e @ ae
RIS e :
Wm@ﬁﬁ%@mm%mm@m%ﬁ%mmmﬁ
TS W @E &N B

#\%ﬁquﬁaﬁﬁﬁu@rmmwaﬁf@:
(A) ®aa (1) 3R (1) (B) @Had (1) 3R (3)

(C) ®aa (1) 3R (2) (D) wad (2) 3R 4)
TBC : 23/P:’If-A 49 P.T.0.



72. Consider the following statements :
(1) The average temperature of India has increased by about 0.7°C since 1901.
(2) India wil} get its non-fossil energy capacity to 550 GW by 2050.
(3) In 2019, China_ emitted 50 perce;lt of tlfl;e world -GHGs.'
4) In&ia will achieve the target of Net Zero carbon emissions by 207(').
Choo_se the correct answer fro‘m .the options given below :
(A) (3) and (4) only (B) (1) and (2) only
! ©) 2 anfi (4) only (D) (1) and (4) only
frfafed wadi w faar =ifed .
(1) 1901 %m@mﬁ%ﬁmm@mﬁwmo.7°ﬁﬂﬁgﬁq@'§é%|
- (2) WA 2050 T STA R-SHaTeH Fe &mAr 550 GW wmm & |
(8) 2019 ﬁaﬁ'—r%ﬁw.aﬁ 50 WWWWIWM|
() WA 2070 TF G Y FEH I B e w9 A
Iﬁmwﬁwﬁﬁ@uﬁmmwﬁﬁﬁ:
(A) e (3) 3R (4) (B) Faa (1) 3R (2)

(C) &ad (2) 3R 4) (D) @aa (1) 3T (4)

TBC : 23/P/I—A - 50



73. Consider the following statements :
(1) Protozoans cause serious diseases like dysentery.
(2) All microorganisms grow oﬁ our foqd and cause’ food poisoning.
(3) Microorganisms can live in desert environment.

(4) All microorganisms are useful for commercial production of medicines and

alcohol.
Choose. the correct answer from the options given below :
(A) (2) and (4) only (B) (1) and (4) only
(C) (1) and (3) only (D) (2) and (3) only
Frefafed Foil w faem #ifwd
(1) vesten ffar SR I S w1
(2) |t gamsia R oo ) fawea #X 2@ €
(3) qeelta wewT F warRor ¥ WA w @R E
4) ﬁqm@aﬁﬁu@@m%mﬁ&waﬂmﬁmﬁ%:
9 feu T fowedi § ¥ W@ SW w1 e S
(A) Haa (2) 3R (4) (B) @ad (1) 3R (4)-

(C) ®ad (1) 3R (3) (D) ®aa (2) 3R (3)
TBC : 23/P/I—A 51 ' P.T.O.



74. Consider the following statements :

(1) Manure and fertilizers are the main source of nutrient supply to crops.

(2) Inorganic farming is practised with minimal use of fertilisers and pesticides.

(3) Growing of different crops on a piece of land in pre-planned succession is
called intercropping.

(4) Bee-keeping is done to get wax.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (3) and (4) only

(C) (2) and (3) only (D) (1) and (4) only

frafeafaa wud w faar =i .

(1) wEa & fou dwel & @0 9 @5 qd 39 ¢

(2) IFFETF FN IS qYl WHANH & TR TET ¥ H# AR R

3) T & B § fafs= el #1 gd A sEe ¥ I @I/ SFaUEEeiho
Fed &l

(4) HyFEEl qeF AW W W@ HA & fou feE S R

2 feu U fomedt § ¥ WE IW F TIE HIA

(A) &Fad (1) 3R (2) (B) ®ad (3) 3R (4)

(C) Faa (2) 3R (3) (D) wad (1) 3R (4)

75. Consider the following statements : '

(1) India became a member of Wassenaar Arrangement in 2023.

(2) The 17th Asia Pacific Regional Meeting was held in Singapore.

(3) The 9th India-Oman Strategic Dialogue will be conducted in Oman in 2024.

(4) Oman is at the Gateway of Strait of Gibralter through which India imports
about 20% of its oil imports.

Choose the correct answer from the options given below :

(A) (1) and (2) only (B) (3) and (4) only

(C) (2) and (3) only (D) (1) and (3) only

frafafen wodl | fa=wr Fis3 .

(1) 9Rd aRAR =Ja¥dl &1 2023 H & 54 T

(2) 174t ufern wena a5t Sew fomR # smafsa =t M)

3) a9 2024 F 3w H ool YRG-3HE WHfaw amal SEfEd W R

(4) A e ToeREqs & &Y R W § fous @eaq @ 9Rd 394 qd
H N 20% IEE HIAE B

2 fu T fawedt § A W@ SW T TIE HE

(A) ®ad (1) 3R (2) - (B) @da (3) 3 (4)

(C) Haw (2) 3 (3) (D) Haa (1) 3 (3)

TBC : 23/P/1—A 52



76'. Consider the following statements :
(05 Bugaieans s sy prowd it Bossti
(2) Asbestos are mainly found in Canada.
(8) Copper is chiefly produced in Chile.
‘(4) Black soils are majorly required for the cultivation of coffee.
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (2) and (3) only
(C) (2) and (4) only (D) (3) and (4) only
frafafas ot w faer Fifad -
(1) T Yera: ®9 ¥ I 9w ¥
.(2) 3T (TEey) TeHa: wel § U3 9n ¥
(3) dfen qema: fact # ¥ 2w ¥
4) HH F FH FA P fau 787 IR W FEl b #oTE@ G R

T2 Ru T fowedi § ¥ @@ SW H gIE FEE

A) saad (1) 3R (2) ' (B) ®a@ (2) 3K (3)
(C) #aa (2) 3R (4) | (D) #aa (3) 3R (4)
TBC : 23/P/I—A 53

P.T.O.



-77. Consider the following statements :

(1) In Himachal Pradesh, Grant from the Centre is the highest percentage
of revenue receipts.

(2) In Himachal Pradesh, non-tax revenue is likely to increase to Rs. 3,769_
crore in FY 2022-23 (BE).

3 In IHimachal Pradesh, the tax revenue growth rate is estimated at 10.84
per cent in FY 2022-23 (BE).

(4) In Himachal Pradesh, growth of subsidy expenditure is estimated to be
4.44 per cent in FY 2022-23 (BE).

Choose the correct answer from the options given below :

(A) (1) and (3) only (B) (2) and (3) only

(C) (1) and (2) only (D) (3) and (4) only

frefafea wo w® faar s

(1) mmﬁmmmmﬁﬁmm%ﬁﬁmmw%l

@) femrse wRw #, = o wgwt faw o 2022-23 (@) F 3,769 FAT T WY

H FTIE ¥

3) fewra wew & faw = 2022-23 () § X 9= Ffe W 10.84 yhww wA
F AT R

(4) femrea ww # fam o 2022-23 (31) # wfenst @ § 4.44 wiwt F g =
T ¥

F= Ry T fawedt § ¥ w@ SW T g R

(A) ®aa (1) 3k (3) (B) @aa (2) 3R (3)

(C) ==& (1) 3R (2) D) Haa (3) IR (@)

TBC : 23/P1—A 54



-
78. Consider the following statements :

(1) Himachal Pradesh’ﬁas ranked .18th out of 36 States/UTs/Cities in Export
Preparedness Index 2021. . |

(2) Laha\ul-Spiti is at the bottom of the rankings in District Good Governance
Index 2021.

(3) stmks have sanctioned Rs. 63.46 crore to 476 new enterprises under Stand

| ’Up India scheme during this financial year 2022-23.

(4) Banks have funded 44,'398 farmers through Kisan Credit Cards during
2022-23. | '

Choose the correct answer from the options given below :

A) (1) nud (Ehhals B) (2) and (3) only

(C) (1) and (2)-only | D) (3) and (4') only

frefafed sadi w faar #ifsd

(1) et dt g 2021 & feraw W A 36 ToH/HF-ew R A
1831 T fire i .

(@) fForen qURE qEEE 2021 § ade-wt e & g T R

(3) i 7 39 faxig v 2022-23 & SRE Ve 7y fewn A9 & Tod 476 T ]I
ﬁés.mwﬂgmﬁﬁﬁqﬁaﬁ%

(4) St 7 2022-23 % A frum Bfee w1 3 Wem ¥ 44,398 frar =1 fom

diftd fan ¥
A R T e § AW SR oW qE W
&) B 1) ARG L ®) W@ @)
© @ Iw@ D) F (3) (@) _
: BRG.

TBC : 23/P/T—A 55



79. Consider the following statements :

(1) The sex ratio in the state is 972 females per 1000 males, which is higher
than the national average of 940 females per 1000 males.

(2) Service is the priméry occupation of people in Himachal Pradesh, with over
90% of the population dependent on it for their livelihood.

(3) Himachal Pradesh has a per capita income of Rs. 3,58,369, which is higher

than the national average.

(4) The state has a high Human Development Index (HDI) of 0.707, which

is higher than the national average of 0.640.

Choose the correct answer from the options given below :

(A) (1) and (4) only (B) (1) and (3) only

(C) (1) and (2) only (D) (2) and (4) only

frefafed ®edl w faem #ifS3 .

(1) g § famaa ufa 1000@m972ﬁmﬁw%ﬁn@ﬂsﬂm94omaﬁ
wfa 1000 gESi | sfew B

(2) et wow H ¥ i o W A §, 90% & S St st ST
% fow @ w foRk B

@) feaem ww = ufq =f@ o9 3,58,369 T ¥, S TN ofwa @ afuw ®

(4) U9 w1 =9 9MG fowm gues (TEEemE) 0.707 ¥, S U SHEd 0.640

q fus B
2 e U fawedi § A WEH SW F A FifSd ¢
(A) Fad (1) 3R (4) (B) #ad (1) 3R (3)
(C) F=a (1) 3R (2) | (D) #ad (2) 3R @)

TBC : 23/P/1—A ; 56



80. Consider the following statements :
(1) The rainiest district in Himachal Pradesh is Kangra.
(2) Rainfall in the Alpine region of Himachal Pradesh varies between
300-600 mm.
(3) Winter season in Himachal Pradesh extends from October to March.
(4) | Mandi is the ho‘tteét place in Himachal Pradesh.
Choose the correct answer from the options given below :
(A) (2) and (4) only (B) (3) and (4) only
(C) (1) and (2) only (D) (1) and (3) only
frefafed wod W four #iva .
(1) feurea Ry =1 9@ fus awi am@n fen w5 &
5 MRt SEME &% F 300-600 AR ® W awt A ¥
@) fom wew # v g R 3 T b
@ form v T
ﬁ%ﬁqwﬁmﬁ@ﬂﬁmmwlﬁﬁﬁ:
(A) &aa (2) 3R (4) (B) ®ad (3) 3R (4)

(C) &ad (1) 3R (2) (D) @aa (1) 3iR (3)
TBC : 23/P/I—A 57 P.T.O.



81. Match List I with List II :

List-I List-I1
(Scheme) (State)
(@) Vahan Mitra Scheme ° (1) Rajasthan
(b) Indira Rasoi Yojana © (i1) Madhya Pradesh
(¢) Emissions Trading Scheme  (it7) Andhra Pradesh
(d) Gaushala Project : (iv) | Gujrat

Choose the correct answer from the options given below :

(@)
@) @
(B) (i)
© Gid)
D) (i)

(b)
(i)
(i)
@)
@

()
(iv)
M)
(@)
(iv)

(d)
(z21)
(iv)
(zv)
(i)

T I = 108 faam =i .

gt 1
(Thim)

(@) =me fisn @=m
(b) 3 W A
(c) ITHSH AR Al
(d) e i
A9 Ry o frred § Y W IR B T B

(@)

A @

B) (i)

(C)  Gid)

D) (i)
TBC : 23/P/I—A

()]
(1)
(@)
@)
@)

(c)
(iv)
@
(i)
(i)

T 1
(A=9)
G) TS
(i) A W
(i) 3Ty you
(fv) TSI

(d)

(D)

(iv)
(iv)
(it)
58
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82. Match List I with List II :

List-I
(Headquarters)
(@) Guntur
(b) Bengaluru
(¢) Kottayam
(d) Kolkata

List-II
: (Board)
(i) Coffee Board
(i) Tobacco Board
(i) Tea Board
(iv) Rubber Board

Choose the correct answer from the options given below :

@ ©® @© @
A) @ @) @) Go)
B) @ O G G
€ @ G @) @
M) G G @ ()

gt I & gE I @ faem #ifa

g1
(FEATeTa)
@ TR
(b) ST
() HgIH
(d) AT

gt 11
(sr3)
@ e A
(i) T ae
(i) =@ e
(v) @ A

¥ fau o faredt F ¥ W IW w1 LIS B

@ ® @@ @
A) @) @ @) Q)
B) @ & @) @)
C) @ @ @) O

M) @) @) @@ )
TBC : 23/P/1I—A :

59 PT.O.



83. Match List I with List II :
List-I

List-11

(Vijayanagar Kings) (Dynasty)
(@) Virupaksha-II '
(6) Achyuta Ray

(¢) Sriranga-I

(d) Thimma (iv) Saluva
Choose the correct answer from the options given below :
(@ @ (@ @@

A @ GG G) Gv)

MB) @ @ (o) i)

©) @ @ 6 i)

D) Gv) @) G) G
T I W g IR e iR

et 1 g 11
(Frsrmre Tr=m) (awm)
(@) fowmar-11 G T m
(b) T=ga T @) dqE=
ORE S (i) ety
(d) o= (w) 9
ﬂ%ﬁqmﬁﬁﬁ%@wwwaﬁﬁﬁ:
@ & @ @

A @ @ @) ()

B) @G & G Gid)

€ G @G 6 Gib)

M ) @) @ 6

60

TBC : 23/P1—A

(() Sangam
@) Tuluva
(Ziz) Aravidu
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84. Match List I with List II :

List-I List-II
(Important waré) . (End with Treafy)
(@ First Carnatic War (i) Treaty of Madras
(b) Third Carnatic War (@) Treaty of Mangalore
(¢) First Anglo-Mysore War (tii) Treaty of Paris

(d) Second Anglo-Mysore War (iv) Treaty of Aix-la-Chapelle
Choose the correct answer from the options given below :
@ ) @© (@
A @) @ @ @)
I B) G @ @ G
(C) ) @) @ @)
D) @) @G @) @
gt 1@ get 10§ fream s e

et 1 o
(WUt 93) (wfr & wurE)
(@) 9¥H FARH TG () WEE &t Gy
(b) TI HARE g5 (i) HTeR =i Gfy
() W™ IAa-HR IS (i) U= =t =6y
@) feia sita-A 38 (iv) THE-o-IMia i G

2 feu 7o fowcdl # ¥ @@ IW F FAE HiA ¢
@ b)) . (@
(A) G@uw) @ @)  Gv)
B) Gv) @ @ i)
©C) @ @) @ 6@
D) G G @ O
TBC : 23/P/1—A 61 PT.0.



85. Match List I with List II :
List-I
(Important Battles/War)
(@) Battle of Machhiwara
(b) Battle of Bilgram
(c) Battle of Rakshasi-Tangadi
(d) Battle of Dohariya

@
()
(1)

(v)

List-II
(Year)
1532
1565
1555
1540

Choose the correct answer from the options given below :

@ ® © @
A @ @Gv) Gu) @
B) @ @ @ G
©) Gi) @) G G
D) ) G) G @) |
Tt I w1 gEt I/ faem s

et I et 11
(WEEqUl ASTEA/IR) ()
(@) " W TS S ey
) foemm +t @i (i) 1565
(c) THH-drTSt *t TS (i) 1555
(d) IF@ =1 I3 (iv) 1540

Fa feu U fawedi § @ W@ IW w gIE wIE

@ B @© @
A @ @ @ @
B) @ G @ )
(C) @) @) @O @)
D) @) Gv) @ 6
TBC : 23/P/1—A
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86. Match List I with List II :

List-I List-II
(Pass) (Place)
(@) Niti Pass (2) Arunachal Pradesh
(b) Rohtang Pass (i) Ladakh
(¢) Likhapani Pass ' (@i1) Himachal Pradesh
(d) 'Khunjerab Pass (fv) Uttarakhand
Choose the correct answer from the options given below_ :
@ © @
(A) Gv) G G GD)
(B) Guv) @@ G @6
© @) @ G @
D) Gid) Gv) G 6
T 1w g I ¥ faem wifeg
et 1 | g 11
() (FIT)
(@) Fret = () STEE W
(b) Trgam =T () R
(¢) fowmr < (i) feur=e ww
(d) TIsE T (v) SWES

ﬁ%ﬁqmﬁwﬂﬂ@aﬂwwww

(A)
(B)
(C)
D)

TBC : 23/P[I—A

@ () (o)
() @) @)
() @) D)
() @) (@G0)
@) @(v) @)

(d)
(i)
®
@)

@)

63

PT.0.



87. Match List I with List II :

(a)
(b)
()
(d)

List-I List-II
(Doabs) (Rivers)

Bist Doab @) Between Chenab and Jhelum
Chaj Doab : () Between Beas and Ravi
Bari Doab - (iii) Between Jhelum and Indus
Sind Doab (iv): Between Beas and Sutlej

Choose the correct answer from the options given below :

@ B ©© @

A) @ @ @) (v
B) @) 6 @) @)
€) @) Gi) G @)
M @) @ @ @)
gt 1 & g I @ frem wifed
gt 1 ;e el I
EEIC) ()
(@ fo o G) fome @ 9om & wem
(b) =S TS (i) =9 g [l 6 wEH
(€) R JeE Gii) Som 9 fay & "
(@) fau == (jv) =M 9 FaaS & HHA

2 fu T fawed § ¥ WE SR F T F0E

(A)

©
(D)

(@ ®) © @

@ @) G G
(B)

@ O @) @)
@) @) @) @)
@) @ @ @)

TBC : 23/P/I—A 64
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88. Match List I with List II :

(@)
()

(e)

@

Choose the correct answer from the options given below :

(A)
(B)
(C)
(D)

List-I

Domestic Violence Act
Sexual Harassment at
workplace
Commission for Sati

(Prevention) Act

Dowry Prohibition Act

@ G @@ @
@ @ @) (o)
() @) G 6
G @) G @)
GE) G) G @)

List-II
@) 1961
@) 1987

() 2013

(@) 2005 _

gt 1% gt 11§ faom #ifsd
gt 1

(a) ﬂiﬂfm?ﬂiﬁ

(b) wEYE WA IdTET

(c) @t (Fow) smEm A

(d) TBS IHAA FA

A fu T fewed § @ W SR W T iR

(A)
(B)
(®)
(D)

@ ® @© @
@ @ G )
) @) G  G)
@ @ @) G
@) @ G @

TBC : 23/P/I—A

gt I

(2)
@)
(22)

(iv)

65

1961
1987
2013
2005

P.TO.



89. Match List I with List II :

List-I | List-II
(@) Organisation of Village (7) Article 44
Panchayat

(b) Promotion of International (i) Article 39A

Peace and Security
(¢) Uniform Civil Code : (ziz) Al_'ticle 40
(d) Equal Justice and Free (fv) Article 51

legal aid

Choose the correct answer from the options given below :

(@)
(A) @)
B) @
(C) @)
D) @)

(b)
(zir)
(22)
(iv)
@)

) (@)
@) @
@) ()
@ @
@) Guw)

it 1 g I @ frem wifea
et 1

(@) M GETEG H TS @) TR 44
(b) SiaUsa wifa o Fam (i) TR 39A
#1 sAfafs
(¢) FHM M |ied (i) TR 40
d) T9H =E 9 fes (iv) IR 51

fafus Tera

et 11

9 R U fawed # ¥ WH SW H gAE FiA

()
(A) @)
B) @
(C) @)

(D) (v)
TBC : 23/P[1—A

®)
(i)
(@)
()
(z)

e @
(@) @
@) (@)
@ @
@) @)
66
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0. Match List I with List ¢
List-I

(@) Critical Minimum Effort
Hypothe.s:i.s'

() Theory of Social Dualism

(¢) Low-level Equilibrium Trap

(d) Theory of Technological
Dualism

List-II

(@) Boeke

(ii) Leibenstein
(iz) Higgins

(Zv) Nelson

Choose the correct answer from the options given below :

@ ®) @ @
A) @) @ (v G0)
B) @ Gv) G G)
C) @) G) Gv) @

M) ) G) G) Gii)
T I g IR frem w5t .
gt 1
() WeEY =N WA GRee
(b) WIS TaqaR +1 faga

© E-w{7 9gem s
(d) THIHI gaAdaR F1 fagE

gt 11
@) =
() foeem
i) Tefm
(v) &=

ﬁ%ﬁqmﬁﬁﬁﬁnﬁmmwaﬂﬁ&:

@ B @@ @@
A @) & Gv) G;)
B) @ Gv) =Gi) @)
©€) @) @) G @
M G & @ GE)
TBC : 23/P/1—A

RT.O.



91. Match List I with List II :
List-I
(@) “Development as Freedom” @)
‘() “Fault Lines : How Hidden (i)
Fractures Still Threaten
~ the World Economy”
(¢) “India : The Emerging Giant” (iii)
(d) “The Making of India : (iv)
Economic Policy and
Nationalism, 1947-2017.”

List-II
Amartya Sen
Raghuram Rajan

Montek Singh Ahluwalia
C. Rangarajan

Choose the correct answer from the options given below :

@ & @@ @

A @) & @ )

B) @ 6 @) @

© @) @ @ @)

O O G @) G
gt [ ® g I ¥ e il

et 1 et 10
(@ “wEm ® w0 R @ @) W &
b) "l W ;B feed (@) T WA

Paad fed ¥ T T2
A"’

© “Ifem : g whhn sme” () Wiew fuw stwcEfa
@ ‘‘z AfEn sife fem : nfdwGy) W TREA

Hifa R AR, 1947-2017"

2 ey M faEed § ¥ W@ SW F gIE F

@ B @ @

A) @) @ G )

B) @ @ G G

©) G @ @ D)

_ D @ @ G G6@)
TBC: 23/PI—A | 68
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o. Match List I with List II :

List-I List-IT
(Environmental Policy) (Year)
(@) Wildlife Conservation Strategy(i) 2014
(b) National Biodiversity Action (i) 1991 .

Plan
() National Forest Policy (@i) 2002
(d) National Zoo Policy (v) 1988

Choose the correct answer from the options given below :
(@ b)) @© @
A G @) @ G
B @ @ 6 G
C) @) G G) Gv)
M @) @ @ @
TR 1w g 11 @ frem F iR

gt I et 11
(watavor i) (ad)
(@) T3-S GREOT OIS @) 2014
®) < Sa-fafaua &4 A5 @) 1991
) U a7 Hifa (i) 2002
@) g fafeamr #fa () 1988

¥ Rk T fawed § @ v W w1 E Fifw .
@ ® © @ '
A G) @ G Gid)
B) Gv) G) @ G
© O G G G
O Gi) G Gv) G) _
l'II‘B(} : 23/P/1I—A 69 . P.T.O.



93. Match List I with List II :

List-1 List-II
(Vitamin/Mineral) | (Symptoms)
(@) Iron () Weak muscles
(b) Iodine (i) Anaemia
() Calcium i) Mental disability in children
(d) Vitamin Bl (fv) Tooth decay

Choose the correct answer from the options given below :
@ @& @ d)
(A) @) @) G @)
B) @ G GG @
€ @ @) @ G
M & @ G @)
g I & g 11§ frem @it

gdt I gt 11
(fazrfim ratr) (STeyom)
(@) < | () TIa ufewl
(b) 3IMEEH (f) STE
(c) wfcaad (iif) w==i ¥ gHfas fasarm
(d) fa=rfd Bl (v) TR

42 Ry T faeed § ¥ WH IW W T FOA
2 e ) @) D
(A) @) @) G @)
B) @ @ @) O
© G @) @ (@)
M @ @ @ @)
TBC : 23/P/[1—A 70
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94. Match List I with List II :

List-1
(Quantity)
(@) Weight
(b) Volume
(¢) Temperature

(d) Pressure

List-II
(Unit of Measurement)
(z)  Cubic meter
(i) Newton
(1ii) Pascal

(iv) Kelvin

Choose the correct answer from the options given below :

(@ ®) (o
@A . @ @
B) @ @ G
©) @ ) Gv)
M @& G G

(d)

- (iiD)

(i)
@
(@)

Tt 1 g 11 @ frem iR

et 1

(i3
(@) ¥R
() I
() <M9E=
@d @

gt 11

(\Tr)
@) =9 "R
@) =g
() 9= A
(v) HfeEa

ﬁ%ﬁqwﬁwﬁﬁ@qﬁwwwaﬂﬁ'&:

(@ ) (@
@ @ @ O
B) @ G G
C) @) @) Gv)
M @ @) G
TBC : 23/P/1—A

(@)
(ti)
(€773)
@
(i2)

7§ ’

P.T.O.



95. Match List I with Lis_t ][}

List-1 List-1I
(Defence Exercise) (Participant Countries)
(@) Surya Kiran : (i) India and ‘Indonesia
() Garuda Shakti (7)) India and Nepal
(¢) Vijay Prahar (ii) India and Singapore
(d) SIMBEX (fv) India and USA

Choose the correct answer from the options given below :

@ W @ (@

A G G Gi) @)

B) @) Gi) Gv) @)

© @ @& G G

D) G) G Gi) @
gt 1w gt 11 ¥ faam #ifea

gt 1 Tt 11

T ) (Ve 29
(@) g4 fotm () 9Ra 9 sSHfeE
(b) TET wfE | (i) WRd 9 e
() fa=@ wER Gii) wRa 9 famy
(d) T (v) YRG T SgF TF SR

9 feu U fawet § ¥ W SW H TG FE

(A)

(B)

(©)
(D)

@ B © @
@ @) @) @)
@ @) G @
@ @ Gv) @)
@) @ @) @

TBC : 23/P/I—A 72
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96.

Match List I with List II :

List-I List-1I
(Epithet) (Country)
(@) Land of Snow (t)  Aberdeen
(b) Granite City (it) Canada
(c) White City (iii) Belgrade
(d) Pearl of Orient (iv) Hong Kong

Choose the correct answer from the options given below :

@ & ©© @
A @) G Gv) i)
B) @ @ @) @)
C) @) G Gv) G
D) G) GiE) Gv) @
T=H I H g IR e wifsd

et 1 gt 11
(tfadre) @)
(@ 9% & 9y () WEEF
(b) UTEE W (i) TSI
(c) Hhg I (iii) <SS
@ & F A (iv) BRI

F= ke T faswedi § | @@ W T g Fied
@ @ (@ (@
A @ @ @@ )
(B) @ @& Gw) Gv)
©) @ @& @G G
M @ @) G 6

TBC : 23/P/I—A 73

P10



97. Match List I with List II :

List-I : List-II
(Organizations) (Year)
- (@ Dujam Movement @ 1939
(b) All India State People @) 1938
Conference

(e) I-iimalayan Riyasati Praja (zii) 1906

_ Mandal

(d) Kunihar Praja Mandal (Gv) 1927

Choose the correct answer from the options given below :
@ B @ @

A @& @ @) Gv)

(B) Gu) ) @ @

© @ G 6 Gi)

O G) G @ @

T 1 F g I R e SR

Tt 1 o ogst I
() ()
(@) TIM ARIAH @ 1939

(b) Sfad WRAE T 59 §9HaA () 1938

) Teureas famet oo 9= Gi) 1906

(d) HfTER Yo H&d () 1927

a4 g T fomedl § 4 W@ SW w1 A HIGD
@ ® ©© @

(A G G) Gi) Gv)

B) @) G @ @6

© Gv) G) & Gi)

M) G Gi) G 6

TBC : 23/P/1—A | 74



98. Match List I with List II :

List-I

(Dist:'ict)

(@) Chamba
(b) Kullu
() Sirmaur
(d) Kangra

Choose the correct answer from the options given below :

(a)
(A)  G)
B) @)
C O
D) @)

(b)
(@)
(2i1)
(iD)
@

(c)

@)
@)
(tv)

(d)
(ip)
(iv)

(u22)

(v) (i)

Tt I gt I 9 faem Sifsd .

T 1
(Frem)

(@) =H0
b) |/
c) fawir

(d) wtrer

List-II
(Reserved Forest Area
in Sq. Km. in 2019-20)
(@ 1050
@) 374
(i) 164
Gv) 70

gt 11

(2019-20 ¥ smfara ==
& ot feerer #)

@)
(i2)
(i11)

@)

1050
374
164

70

2 g T famed § ¥ R OIW w1 TE B

- Ay
(A) (@)
(B) @)
© o
D) @)
TBC : 23/P/I—A

(b)
(i)
(i1d)
(@)
@

(c)
@)
@)
()
(iv)

(d)
(iv)
()
(212)

(i)

75

PTO:



99. Match List I with List II :
List-I : List-I1
(@) Himachal Pradesh Skill @ 2018
Development Project :
(b) Himachal Pradesh Kaushal @) 2017
| Vikas Nigam _
(¢) Mukhya Mantri Yuva Gi)) 2014
Ajivika Yojana
(d) Himachal Grihini Suvidha @v) 2019
Yojana
Choose the correct answer from the options given below :
@ B @ @
A @) @' @ @)
B) G) 6 G @)
© @ & G )
D &) Gi) G) )
Tt I g IR frem st

g 1 et 11
(@) forma v s faw@ ) 2018
RIECIEE]
) fearma wo*w wne faem @) 2017

- fm

(c) &3 Wit gar IASfifaant A (i) 2014

@) femraa 7feoit gfaen @1 Go) 2019

A fku o fawedl # ¥ AF IW F gAE FiGA
@ b © @

(A GE) G G Gv)

B) @) G Gi) ()

€ @ 6 G) G

M G GiE) G) @)

TBC : 23/P[I—A | 76
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100. Match List I with List II :

List-I
(District)
(@) Kinnaur
(b) Chamba
(¢) Mandi
(d) Lahaul and Spiti

List-I1
(Wildlife Sanctuary)
(©) Rupi Bhaba
(@) Sechu Tuan Nala
iii) Kibber |
(v) Nargu

Choose the correct answer from the options given below :

@ G @ @@
A) @ @ @) ()
B) Gv) @) @) @)
C) @ G @ G
D @ @ G G

T 1 g 1 e A

gt 1
(fsrem)
(@) f&=R
() ==
) #e&t
(@ e T wifa

gt 11
(F=sia AVATIUT)
@ @ wEn
@) Y M AT
i) feeR
() -

T4 R T faredl § @ wht W oW T S

@ ® @© @
A @ @) @) Gv)
B) @) @) @G @
C) @) G O @)
M ® @ G G
TBC : 23/P/1—A

"P.T.O.



SPACE FOR ROUGH WORK
Fex @ & fou @
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